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In[60]:= A = Table[Total[Table[RandomInteger[],
{i, 1, 100}]], {j, 1, 100000}];

In[61]:= Count[A, 50]/100000 // N
Out[61]= 0.07936

In[62]:= Sum[Count[A, k], {k, 59, 100}]/100000 // N
Out[62]= 0.04377

In[56]:= 100!/(50!*50!)/2^100 // N
Out[56]= 0.0795892

In[63]:= Sum[100!/(k!*(100 - k)!)/2^100 // N,
{k, 59, 100}]

Out[63]= 0.044313

In[82]:= B2 = Table[RandomInteger[], {i, 1, 100}]
Out[82]= {1, 1, 1, 1, 1, 0, 0, 1, 1, 0, 0, 0, 1, 1,

0, 0, 1, 1, 1, 1, 0, 0, 0, 0, 0, 1, 0, 1,
0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 1, 0, 1, 1,
0, 1, 1, 1, 0, 1, 0, 0, 0, 1, 1, 0, 0, 1,
1, 1, 1, 0, 0, 1, 0, 0, 1, 1, 0, 1, 0, 0,
0, 1, 1, 0, 0, 0, 1, 0, 1, 0, 0, 0, 0, 1, 1,
1, 0, 1, 0, 0, 0, 1, 1, 1, 1, 0, 0, 1, 0, 1}



In[79]:= B1 := {0, 1, 1, 0, 0, 1, 0, 0, 0, 1, 0, 1, 0, 1,
0, 0, 1, 0, 1, 1, 0, 0, 0, 1, 1, 1, 1, 0, 0,
1, 1, 1, 1, 1, 1, 1, 1, 1, 0, 1, 0, 0, 0, 1,
1, 1, 1, 1, 1, 0, 0, 0, 0, 0, 1, 0, 1, 1,
0, 0, 0, 1, 1, 0, 0, 0, 1, 1, 0, 1, 1, 1,
0, 0, 1, 0, 0, 1, 0, 1, 1, 1, 0, 1, 0, 1,
1, 1, 1, 0, 1, 0, 0, 1, 1, 0, 1, 0, 1, 0}

In[65]:= B := {0, 1, 1, 0, 1, 0, 1, 1, 1, 0, 0, 1, 1, 0,
0, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 0, 1, 1, 1,
1, 0, 0, 1, 0, 1, 1, 1, 0, 0, 1, 1, 0, 0, 1,
0, 0, 0, 1, 0, 1, 0, 0, 1, 0, 1, 1, 0, 0,
1, 1, 0, 1, 1, 1, 0, 0, 0, 1, 1, 0, 0, 1,
1, 0, 0, 1, 0, 0, 0, 0, 1, 1, 1, 0, 1, 0,
0, 1, 0, 1, 1, 1, 0, 1, 0, 0, 1, 1, 1, 0}

In[83]:= T2 := Table[Sum[B2〚i〛, {i, 1, j}], {j, 1, 100}]
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In[85]:= ListLinePlot[{T, T1, T2},
PlotStyle → Thick, ImageSize → 400]
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